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By a loan for - STV 9392 501 930TH NWTIDM JIOWR 1YY whw T19RR
which there is collateral, she is betrothed according to 5''92 %',

Overview

7M1 27 MR X271 taught that if someone is W7pPn a woman by forgiving her a loan, for
which the creditor has a security from the woman, she is nwTPn based on the
ruling of °"12 "9 (who maintains 1N PYITPY IR MNWRIT m:m).‘ Our NMdOIN
discusses the details of this ruling.

- 2mnYs 92991 1Y %391 2NN NYWA XYY PNIUNI 1199197 WY PPN
One cannot explain that we are discussing a case of a IXY?17 nywa KoY WA,
which the creditor acquires based on the teaching of ' -
= PNYS Y297 JND N2ANY D 19N )9 ONT
For if this is so (that we are discussing a case where he is W7pn her with a 1own»
TRIP NYWwa ROW), 1" R X271 should have cited here the ruling of ''9 that mp n"va
Town -

- “IUTDN PIYNa AYTP 333 (3,0 91 IIYY NYANY M9
Like 1"7 cited previously the ruling of "9, regarding the X072 which states if he

was w7p» her with a 0w she is nwIpn -
*A191% %393 YD 2297 X*aNY )Y 1N 29

! Just like by T, where she owes him money (she is his debtor for the work she still owes him) and her body is the
1own which the master is holding as collateral, and by relinquishing her debt she is nwTp», the same is in the case of
1owna 9y Mo that she is NPy if he relinquishes the loan.

% There are two types of 119wn, one is a 1own» which the M>n takes from the M7 at the time of the loan (this is referred
to as a XY NYWA NOwn), and its purpose may be just to make sure that the m? does not deny the loan (but it is not
taken as payment); the other is a 199w which the m>n takes after the loan is due and the M~ did not pay (this is called
a IR1P7 NYwa Xow 15wn). The purpose of this Nown is a form of (insuring) payment. This latter type of 12wn is what
the 7Mn discusses in 3>-°,72 (XxN) 0°727. See “Appendix’ # 1.

3 prx 9 (see 2,0 2°¥Y) derives from the P09 of P 7°AN TN (regarding returning a nR27  NYwa XOW 1OWA to its
owner at night [see footnote # 2]) that the m>n is 7P (acquires a certain ownership) in the (7R27 NYwa XOW) 10w
[however the M7 is not AP a A2 NYWwa NOwn]. According to the w1n7 PR if he returns this (X217 NYwa Xow) 11own
to the woman she is nwTpPn to him, for previously he ‘owned’ it and now she owns it. We would derive this from *"9
°"92 (also), for just as by 713° the man is returning the 175wn (her body) to the 7k and she is nwTpn, similarly here he
returns to her the 110wn, so she is nwmpn. See “Thinking it over’ # 1.

* 1" there interpreted that the Xn»12 which states NwTPn P2Wna AwWTP is in a case where he was w7pn her by giving
her a 11own which another 717 left by him. 1" explained that the reason she is nwTpn is because the mon (the wpn)
acquired the 11own as "1 taught that a 727 is 7P a AP NYW2 KO 1wy, If we are discussing here a case where he
was WTpn her by returning to her the (X127 nYwa RW) 1own, the ruling of *"3 should have been cited here as well, as
an explanation why the Pw17p is valid.

> Mo can mean that he should have brought the same proof in both places; either *"1 or *"22 >"3. Alternately moomn
may mean (at this point) that we require both o>77°2 for > merely teaches us that a 7"va is 119wn 1P regarding that
he has to replace it if it is lost or stolen, but not necessarily that he can be w7pn with a 1own. This we derive from "9
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And previously (on 2,7) 1"7 should have cited the ruling of '3 5''. And since the
X3 here does not mention >"9, this proves that the 217" was not with the 1own.

mooin offers the correct interpretation:
- %5958 ANIYN NYYA PIUNI 199N NIN

Rather we are discussing even if it is a 78277 nywa Jown -
- 7y153 PYaUNNY %9 HY AN MYNA NN 1Y HMNPY NN PNIYN 1Y 91H10 PR I1T99N)

And even if he does not return the 175w» to her, but rather he only forgives her
the debt, even though the 15w still remains in his hand she is nonetheless nwmpn —

mooIn proves his point that he is not giving her the 11own:
= 1OVUNI YIPNN NI 9INRP PaWN NDY YIY MYN wIpNn NNT

For 1"1 7R X211 stated, ‘one who is w7pPn» with a loan which has collateral’, but

he did not say, ‘one who is w7pn with a 179wn’; proving that the w1 TR was with the
27 n?°nn, not with the returning of the Nown.

nvoIn asks:
- 95’95 NYTIPNT 199N 1PaWN X2 199N Smy91 YN’ NNIDA V17127 1992 9INRN ON)

And if you will say; since we already stated previously that one who is w7p» a

woman with the m%» n® 7 nRi3, she is nwTIP» even if there was no Pow» -
- DY 5391 TINYY 193598 1IN NN

So why do we need to derive anything from >"725'"'9?!

N1v0IN answers:
=590 $19) NOVUN NIINT NIINT 9D U
And one can say; that where there is a 3ow» (as in our case), it is worse than if
there is no 1oW» (the case on 2,1) -
- 1YW NY 9OINN INPNY 1% ANYT NN KYT PHYT XPYOT

"2 (where she is the 1own since 1% "1p 791). However "2 °"7 is not sufficient, for how do we know that even a
719wn (not only an aR) is 1P to the M>n, this we derive from >".

® In such a case the rule of >"3 does not apply.

" He will obviously be required to return the 199wn to her (since he was 9mn the 2w1), however the P TP is
accomplished by the 23177 n°nn alone, even before he returns the 15wn.

¥ If a woman owes a man money (for a loan which he lent her), and he says to her, ‘I forgive you the loan and let us
consider the money I lent you as the Pw17°P money’, the rule is that she is not nwTpn. However, if he said to her, ‘1
will forgive the loan and let us consider the benefit that you have from my forgiving the loan (the m>n n%°nn NX17) as
the PwITP money from me to you’, she is nwTpn. In our case too (of NOwWn 19y ww 7912 wipni) we need to assume
that he was w7pn her with the 7191 n%°nn nR17 (not with the actual 7197).

% 2,0. The X3 there assumes that she is nwTpn, since he gave her something of value (the m%n n>mn nX3T) by
forgiving the loan, and since here he is also being w7pn her with the m>n n>n nxin (see footnote # 8), what
difference does it make whether he has a 112wn of hers or not; what do we derive from the ruling of "2 >"9?!
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For it may enter our minds that she is not confident that he forgave her the

loan, since he is not returning the 175w»,'" and therefore perhaps she is not neTp» -
- UHPNT SO 5297 NND 1Y YUN N

The ruling of >"72 3'"9 regarding Ty° teaches us that she is nwWTIP», even where
there is a 1own involved as in the case of *"92 "9, where she is the 110wn, and nevertheless she is
(N7y1n) nwNpH.

mooIn (immediately) asks:
= TI999 NN 2292 509 299 99 9550 9NN ON)

But if you will say; how can we derive from the ruling %''93 %''1 regarding 7,

that she is nwTpn even if there is a 112w», which is not being returned -
- 11]1:\')): 9 99101 PN NN NX¥N PIYN NN NNT NI 139N PAVNH N 99NN MHY*a XOM

But is it not so that by 7i¥° the master is returning the 135w, which is her body,
to her, as the X7n) states; ‘she herself is the 2w’ therefore she is nwTIPhH,
however here (by Nown 153 ww m%n2a wpnn), the man is not returning the Jown
to her!

N1B0IN answers:
- PN NN NN PPY PRT 199 ROIYWDT 99199 Y

And one can say; that it was obvious to 1" 72X X217 that the basic 7T is not

accomplished by the returning of the 75w (the max7 A1) -
- 24915 my9nn TaAYIY NIINM NNNM NON

But rather it is accomplished solely by the forgiveness of her loan obligation to
continue working.

maoIn comments:
- Py1ap 1992 PR $9aY TayT NINY 5293 50Y0 539 1201 PP 59 AN

And it appears to me (m>01n) that we can infer that >''93 3''9 maintains that the
body of an ¥''y is not acquired by his master -

' When there is no 112wn on the loan, and the man forgives the loan, the woman has no reason to be suspicious of
his intention and she accepts wholeheartedly (7ny7 XonD), that he is 2mn the loan and she is nw17pn through the nXan
which she received. However here where he is still holding the 199w and is not presently returning it when he is 7mn
the 211, she has very good reason to be concerned that he is not being 9 the 21 (and he will keep the 15wn as
payment), so since there is no n¥7 N30 perhaps there is no 1w17°p; we derive from °"92 >"9 that even when there is a
10wn, she is nwTpn. See ‘Thinking it over” # 2.

" Moo question may be that perhaps the rule is that if it is a 9wn 15Y W Mon she is not NwTP» unless he also
returns the 15wn, otherwise mere 77°m1 is not sufficient. It is not merely because perhaps she is 7nyT 7150 X7, but
rather when there is a 112wn, the 12°nn alone cannot accomplish 1w17°p (3"y¥). See ‘Appendix’ # 2.

12 We derive from *"92 >"1 that even where there is a 19wn, the 1w TP can be accomplished through 2177 n9°nn alone.
" See the Xn3 previously on X,1 where 821 states % *13p 193 72y T2y DK NXT'.
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- Y545 1195 19 PN 11IUN DPYY WIY N9 HEN T 1IN N1 9P 1993 INT
For if °"72 °"7 maintains that sup 2w v'"v, what connection is there from the
ruling of >"12 °"1 to the case of Pown 7%y W mv»a wipna, for here by "2 °"

there is no loan here at all!
= NNRNYY N NNIPNA NYTPN NON

Rather he is w7p» the 72X by granting her body back to her.

nooIN reconsiders this last inference that »1p 191 PR ¥"'v:
= AYTPN Y NP NNV N NNIPHA NY 15‘[1\‘13 YY1 9919 v 119

However we can say that perforce the master is not wp» her, through

granting her body, which was acquired by the master, to her -
: 9797 892 ¥999nY 20V K92 YIPN PN 19 DNT

For if indeed it were so (that he is w7pn her through 791 nX1Pi7), how can she be

nw7ipn without a MR “ww and without P25, Therefore we must say that he is not
w7pn her through 71913 NXR1pP:, but rather through the m%» which she owes him. There is therefore
no inference regarding whether *137 1933 ¥"V or not.

Summary
It is XLWDH (to 1"7 KR X27) that (according to °"72 °"7) the Ty is accomplished

through 2177 n%°nn (NX37), but not through 7913 — Nowni NRIPH, therefore we can
derive that 110w»n VY W w M2 wIpna she is NWTIPn even if he does not return the
Town.

Thinking it over

1. Is the 11own of the 7R (where 11owWn 7913 X°7) considered'” mx9m nywa NoWH or
RIPT DYWwa XYW 110wn?

2. Does 7w require the consent'® of the 7mx?"°

14 117 1913 means that he owns her (not that she owes him), like one owns cattle, and because he owns her she works
for him. When he is w7pn her, he gives her back what he bought, but there is no loan that is forgiven. Therefore we
cannot at all derive the rule of 12wn 1oy W w 712 wIpnI from the rule of Ty>. The fact that we do proves that X
137 7197 and she merely owes him the work for the money he paid; therefore when he is 2 her it is the equivalent
of being %mn a 2.

' Alternately moon may be saying that we do not need 1"7 91X X327 to prove that "13p 123 X ¥"v, we can know it
from the ruling of "2 "1 directly.

' See “Thinking it over’ # 3.

"7 See footnote # 3.

' See footnote # 10.

" See von mx AP oMY Ma.
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3. moon writes that if he is wipn her through 791 nXip, she requires v or P97,
However since she still owes him money (work) and he is % this work in lieu of
TR, this is seemingly the same as 793 1WA (when she redeems herself by
giving him the money owed) where she goes free without vx or 2577, why do we
not say that when she is nw7nn on account of the money she owes, it means she is
giving him this Pw17p R0

Appendix
1. Mmoo negates that we are not discussing a case of X127 NYwa XOW 110wnH, which

he is pr> "1 mnp.>> However, previously” mooin explained that one can be wipn
even with a X177 nywa Nown. The "wann and X"woan tackle this issue in different
ways. However, (5° °"010) p"wwan resolves the contradiction. Previously where
mooIn ruled that she is NWTIPA even with a X127 DYW2 1OWn it is in a case where
the Mm% had a 1own from someone else, and he was w7pn the woman with this
1own. Even though the %7 is not 7P the 1own, nevertheless it represents a Tavw
which the m»» has against the Mm%, and when he gives it to her, he is giving her
something (of value) which she never had before. However here we are discussing
a case where the 1Own he i1s giving her is her 112wn (he lent her money for the 112wn
[just like by T where the 1own is the woman]), therefore if the m%n is 1 the
Mown (if it is IRDIT NYwa X9W), he is giving her something of his, however if he is
not 7P the Nown (by a nAXY?n Nywa Nown), she already owns the 1own; he is not
giving her anything, therefore she will not be nwmpn.

2. Mmoo explains that we require the ruling of *"72°" to teach us that if he is w7pn
her with m%» n%nn nRin where he has her 15wn, she is nwTpn, even though we
might have thought there is no n¥y7 M>M0 (since he is not returning the 112wWn),
nevertheless we derive from >"72 >"7 where there too there is a 110w (since 7191 X7
7own), that she is nwTpn.”* Then Moo (immediately) asks™ but how can we
derive this from "2 "9, since by °"72 >"7 he is returning the NOW» (meaning the

20 See footnote # 16.

I See w"wn and nwn nbm.

22 See footnote # 2.

2 own "7 'on a,m.

** See text by footnote # 10.
» See (text by) footnote # 11.
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Town 791 X7 1K), however in our case he is not returning the 112wn. Seemingly
MooIn means to ask that we did not explain how there is 7ny7 71910 by %12 wIpna
15w 1oy ww; the proof from °"92 °"1 is no proof at all, since by 7 he is returning
the 1own. However (if this is the question) nNoown answer ( N2 "1 779 RVWHT
T MonT MWW nnn 191 Nownn) does not seem to answer the question.”® The
v"» 1 explains that we derive from °"92 °"9 that even when 7nyT 7210 X7 she is
nwMpPn, because in the case of 7¥°, there is also no NY7 N12°10, because he is merely
5mn the 21, but she is not sure that she is free unless he actually sends her away,
and nevertheless she is nwTIPn. MOOIN question that by My he is 77n the NowWn is
how do we know that by 7% the Pw11°p is on account of the 217 nonn (where
there can be an issue of N¥7 N12°0), perhaps it is because he is 71pn her the Nown
(her 713), and when he is actually 711 the 1Own there is no issue of nNY7 oo’
Now nwoin answer is understood that it was 7°% Xp°wd that the 7% is because of
the 79°11,%® but not because of 7191 NRIP;.

% See the X"w1mn who deals with this issue (but it seems that the 7907 72 901 107 ).

2" When he is wTpn her with (merely) m%n n2°mn nR37 but does not return the 119wn, she has no 7R3, since she is not
sure that he is really >mn (and the same is true by 73 if he is w7pn her only with 2117 n?’nn); however when he is
71pn to her something tangible (whether it is her 713 or any other object), even if she did not receive it yet, but since
there was a 7"1p, there is no issue of N¥7 N1>10 since he was 71pn her something of intrinsic value.

*% The reason that it is Xo*ws is because the master intends to bring her closer to him, not to send her away, to be 73p2
her 711 away from him.
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